

WI

December 12, 2025

To: Sandra Hadley

From: Elvin Ulmer

RE: 804 S 19<sup>th</sup> Avenue

Sandra Hadley,

After receiving Donelle Thornton's Council Order request dated December 10, 2025, to cut and clean the lot located at 804 S 19<sup>th</sup> Avenue, a crew was sent out to perform the work. The job was completed on December 11, 2025 at a cost of \$71.83. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

	hours	\$ per hour	
Manhours 1:	2.5	\$15.23	\$38.08
Manhours 2:		\$15.23	\$0.00
Tractor 1 Hours:		\$17.33	\$0.00
Tractor 2 Hours:		\$17.33	\$0.00
Bush Hog Hours:		\$20.90	\$0.00
Truck Hours:		\$11.75	\$0.00
Trailer Hours:		\$16.99	\$0.00
Lawnmower Hours:	0.75	\$25.00	\$18.75
Weed Eater Hours:	0.75	\$20.00	\$15.00
Chain Saw Hours:		\$3.39	\$0.00
Pole Saw Hours:		\$1.75	\$0.00
Total			\$71.83

+50.00 Admin Fee  
~~\$121.83~~

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

Parks & Recreation

WI

December 11, 2025

To: Sandra Hadley

From: Elvin Ulmer

RE: 1830 Lee Street

Sandra Hadley,

After receiving Donelle Thornton's Council Order request dated December 10, 2025, to cut and clean the lot located at 1830 Lee Street, a crew was sent out to perform the work. The job was completed on December 10, 2025 at a cost of \$45.35. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

	hours	\$ per hour	
Manhours 1:	1.5	\$15.23	\$22.85
Manhours 2:		\$15.23	\$0.00
Tractor 1 Hours:		\$17.33	\$0.00
Tractor 2 Hours:		\$17.33	\$0.00
Bush Hog Hours:		\$20.90	\$0.00
Truck Hours:		\$11.75	\$0.00
Trailer Hours:		\$16.99	\$0.00
Lawnmower Hours:	0.5	\$25.00	\$12.50
Weed Eater Hours:	0.5	\$20.00	\$10.00
Chain Saw Hours:		\$3.39	\$0.00
Pole Saw Hours:		\$1.75	\$0.00
Total			\$45.35

+50.00 Admin Fee  
\$95.35

Please contact me at 601-319-6170 should you have any questions.

Sincerely,  
Elvin Ulmer, Director  
Parks & Recreation

W3

December 16, 2025

To: Sandra Hadley

From: Elvin Ulmer

RE: 636 W 29<sup>th</sup> Street

Sandra Hadley,

After receiving Donelle Thornton's Council Order request dated December 10, 2025, to cut and clean the lot located at 636 W 29<sup>th</sup> Street, a crew was sent out to perform the work. The job was completed on December 15, 2025 at a cost of \$56.60. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

	hours	\$ per hour	
Manhours 1:	1.5	\$15.23	\$22.85
Manhours 2:		\$15.23	\$0.00
Tractor 1 Hours:		\$17.33	\$0.00
Tractor 2 Hours:		\$17.33	\$0.00
Bush Hog Hours:		\$20.90	\$0.00
Truck Hours:		\$11.75	\$0.00
Trailer Hours:		\$16.99	\$0.00
Lawnmower Hours:	0.75	\$25.00	\$18.75
Weed Eater Hours:	0.75	\$20.00	\$15.00
Chain Saw Hours:		\$3.39	\$0.00
Pole Saw Hours:		\$1.75	\$0.00
Total			\$56.60

+50.00 Admin Fee  
\$106.60

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

Parks & Recreation

W3

December 19, 2025

To: Sandra Hadley

From: Elvin Ulmer

RE: 2813 N 7<sup>th</sup> Avenue

Sandra Hadley,

After receiving Durriel Breland's Council Order request dated December 10, 2025, to cut and clean the lot located at 2813 N 7<sup>th</sup> Avenue, a crew was sent out to perform the work. The job was completed on December 18, 2025 at a cost of \$74.77. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

	hours	\$ per hour	
Manhours 1:	2	\$15.23	\$30.46
Manhours 2:	0.5	\$15.23	\$7.62
Tractor 1 Hours:		\$17.33	\$0.00
Tractor 2 Hours:		\$17.33	\$0.00
Bush Hog Hours:		\$20.90	\$0.00
Truck Hours:		\$11.75	\$0.00
Trailer Hours:		\$16.99	\$0.00
Lawnmower Hours:	1	\$25.00	\$25.00
Weed Eater Hours:	0.5	\$20.00	\$10.00
Chain Saw Hours:	0.5	\$3.39	\$1.70
Pole Saw Hours:		\$1.75	\$0.00
Total			\$74.77

+50.00 Admin Fee  
~~\$124.77~~

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

Parks & Recreation

W4

December 18, 2025

To: Sandra Hadley

From: Elvin Ulmer

RE: 117 W 22<sup>nd</sup> Street

Sandra Hadley,

After receiving Donelle Thornton's Council Order request dated December 10, 2025, to cut and clean the lot located at 117 W 22<sup>nd</sup> Street, a crew was sent out to perform the work. The job was completed on December 17, 2025 at a cost of \$23.90. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

	hours	\$ per hour	
Manhours 1:	0.5	\$15.23	\$7.62
Manhours 2:	0.5	\$15.23	\$7.62
Tractor 1 Hours:	0.5	\$17.33	\$8.67
Tractor 2 Hours:		\$17.33	\$0.00
Bush Hog Hours:		\$20.90	\$0.00
Truck Hours:		\$11.75	\$0.00
Trailer Hours:		\$16.99	\$0.00
Lawnmower Hours:		\$25.00	\$0.00
Weed Eater Hours:		\$20.00	\$0.00
Chain Saw Hours:		\$3.39	\$0.00
Pole Saw Hours:		\$1.75	\$0.00
Total			\$23.90

+50.00 Admin Fee  
\$73.90

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

Parks & Recreation

W4

December 12, 2025

To: Sandra Hadley

From: Elvin Ulmer

RE: 143 W 19<sup>th</sup> Street

Sandra Hadley,

After receiving Donelle Thornton's Council Order request dated December 10, 2025, to cut and clean the lot located at 143 W 19<sup>th</sup> Street, a crew was sent out to perform the work. The job was completed on December 11, 2025 at a cost of \$28.75. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

	hours	\$ per hour	
Manhours 1:		\$15.23	\$0.00
Manhours 2:		\$15.23	\$0.00
Tractor 1 Hours:		\$17.33	\$0.00
Tractor 2 Hours:		\$17.33	\$0.00
Bush Hog Hours:		\$20.90	\$0.00
Truck Hours:		\$11.75	\$0.00
Trailer Hours:		\$16.99	\$0.00
Lawnmower Hours:	0.75	\$25.00	\$18.75
Weed Eater Hours:	0.5	\$20.00	\$10.00
Chain Saw Hours:		\$3.39	\$0.00
Pole Saw Hours:		\$1.75	\$0.00
Total			\$28.75

+50.00 Admin Fee  
\$78.75

Please contact me at 601-319-6170 should you have any questions.

Sincerely,  
 Elvin Ulmer, Director  
 Parks & Recreation

W4

December 19, 2025

To: Sandra Hadley

From: Elvin Ulmer

RE: Lot W of 523 E 14<sup>th</sup> Street

Sandra Hadley,

After receiving Durriel Breland's Council Order request dated December 10, 2025, to cut and clean the lot located at Lot W of 523 E 14<sup>th</sup> Street, a crew was sent out to perform the work. The job was completed on December 18, 2025 at a cost of \$48.75. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

	hours	\$ per hour	
Manhours 1:	1.5	\$15.23	\$22.85
Manhours 2:		\$15.23	\$0.00
Tractor 1 Hours:		\$17.33	\$0.00
Tractor 2 Hours:		\$17.33	\$0.00
Bush Hog Hours:	1	\$20.90	\$20.90
Truck Hours:		\$11.75	\$0.00
Trailer Hours:		\$16.99	\$0.00
Lawnmower Hours:		\$25.00	\$0.00
Weed Eater Hours:	0.25	\$20.00	\$5.00
Chain Saw Hours:		\$3.39	\$0.00
Pole Saw Hours:		\$1.75	\$0.00
Total			\$48.75

+50.00 Admin Fee  
\$98.75

Please contact me at 601-319-6170 should you have any questions.

Sincerely,

Elvin Ulmer, Director

Parks & Recreation

W4

December 29, 2025

To: Sandra Hadley

From: Elvin Ulmer

RE: 1631 Dr. Deborrah Hyde Avenue

Sandra Hadley,

After receiving Durriel Breland's Council Order request dated December 10, 2025, to cut and clean the lot located at 1631 Dr. Deborrah Hyde Avenue, a crew was sent out to perform the work. The job was completed on December 19, 2025 at a cost of \$52.96. This amount will need to be reimbursed to the Lot Cleaning Account #001-000-288.0.

	hours	\$ per hour	
Manhours 1:	2	\$15.23	\$30.46
Manhours 2:		\$15.23	\$0.00
Tractor 1 Hours:		\$17.33	\$0.00
Tractor 2 Hours:		\$17.33	\$0.00
Bush Hog Hours:		\$20.90	\$0.00
Truck Hours:		\$11.75	\$0.00
Trailer Hours:		\$16.99	\$0.00
Lawnmower Hours:	0.5	\$25.00	\$12.50
Weed Eater Hours:	0.5	\$20.00	\$10.00
Chain Saw Hours:		\$3.39	\$0.00
Pole Saw Hours:		\$1.75	\$0.00
Total			\$52.96

+50.00 Admin Fee  
\$102.96

Please contact me at 601-319-6170 should you have any questions

Sincerely,  
Elvin Ulmer, Director  
Parks & Recreation